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Corrigé  Exercice 5   
 

Fonction 𝒇 Fonction 𝒈 
 

𝑥 −3  −1  0  5 

Dérivée 𝒇′(𝒙)  + 𝟎 − 𝟎 +  

Variations 
𝑓(𝑥) 

 ↗  ↘  ↗  

 

 

 

𝑥 −5  1  4 

Dérivée 𝒈′(𝒙)  − 𝟎 + 𝟎 

Variations 
𝑔(𝑥) 

 
 ↘  ↗  

 

 

 
 

Fonction 𝒉 Fonction 𝒊 
 

𝑥 0  2  5  10 

Dérivée 𝒉′(𝒙)  + 𝟎 + 𝟎 −  

Variations 
ℎ(𝑥) 

 
 

 

↗  ↗ 
 

 ↘  
 

 

 

𝑥 −1  2  6 

Dérivée 𝒊′(𝒙) 𝟎 − 𝟎 +  

Variations 
𝑖(𝑥) 

 
 ↘  ↗  

 
 

 
 

Fonction 𝒋 Fonction 𝒌 
 

𝑥 1  10  35 

Dérivée 𝒊′(𝒙)  − 𝟎 −  

Variations 
𝑖(𝑥) 

 
 

↘ 
 

 
 

↘  

 

 

 

𝑥 −5  −1  0  7 

Dérivée 𝒌′(𝒙)  + 𝟎 − 𝟎 +  

Variations 
𝑘(𝑥) 

 
 ↗  ↘  ↗  

 

 

 
  
 
Corrigé  Exercice 6  
 

Fonction 𝒇 Fonction 𝒈 
 

𝑥 −2  3  8  11 

Dérivée 𝑓′(𝑥)  + 𝟎 − 𝟎 −  

Variations 
𝑓(𝑥) 

 
−4 

↗ 
5 
 

↘ 
 

−1 
↗ 

7 
 

 

 

 

𝑥 0  4  7 

Dérivée 𝑔′(𝑥)  − 𝟎 +  

Variations 
𝑔(𝑥) 

8 
 

↘ 
 

2 
↗ 

5 
 

 

 

 
 

Fonction 𝒉 Fonction 𝒊 
 

𝑥 1  12  23 

Dérivée ℎ′(𝑥)  +  +  

Variations 
ℎ(𝑥) 

 
−4 

 
↗ 

0 
↗ 
 

8 
 

 
 

 

𝑥 −4  0  7  15 

Dérivée 𝑖′(𝑥)  − 𝟎 + 𝟎 −  

Variations 
𝑖(𝑥) 

−2 
 

↘ 
 

−5 
↗ 

10 
 

↘ 
 

0 
 
 

 
  



Corrigé  Exercice 7    
1)  

𝒇(𝒙) = 𝒙𝟐 − 𝟏𝟎𝒙 + 𝟐𝟏 𝒈(𝒙) = 𝟏𝟎𝒙 − 𝟖 𝒉(𝒙) = 𝒙𝟑 − 𝟑𝒙 − 𝟐 
 

𝑥 0  5  7 

𝒇′(𝒙)  − 𝟎 +  

𝑓(𝑥) 
𝟐𝟏 

 
↘ 

 
−𝟒 

↗ 
𝟎 
 

 

 

 

𝑥 0  1 

𝒈′(𝒙)  +  

𝑔(𝑥) 
 

−𝟖 
↗ 

𝟐 
 

 

 

 

𝑥 −2  −1  1  3 

𝒉′(𝒙)  + 𝟎 − 𝟎 +  

ℎ(𝑥) 
 

−𝟒 
↗ 

𝟎 
 

↘ 
 

−𝟒 
↗ 

𝟏𝟔 
 

 

 

 
2)  

Dérivée  𝒇′(𝒙) = −𝟑 

Dérivée  𝒈′(𝒙) = 𝟐𝒙 − 𝟖 

  𝑥0 =
−(−8)

2
= 4  

Dérivée  𝒉′(𝒙) = 𝒙𝟐 − 𝟐𝒙 − 𝟑 
Avec Δ = 16  ; 𝑥1 = −1   𝑥2 = 3 

𝑥 1  50 

𝒇′(𝒙)  −  

𝑓(𝑥) 
 
 

↘ 
 
 

 

 

𝑥 0  𝟒  +∞ 

𝒈′(𝒙)  − 𝟎 +  

𝑔(𝑥) 
 
 

↘ 
 
 

↗ 
 
 

 

 

𝑥 −∞  −1  3  +∞ 

𝒉′(𝒙)  + 𝟎 − 𝟎 +  

ℎ(𝑥) 
 
 

↗ 
 
 

↘ 
 
 

↗ 
 
 

 

 

 
 

Dérivée  𝒊′(𝒙) = 𝟏𝟓𝟎 

Dérivée  𝒋′(𝒙) = 𝟐𝟒 − 𝟎, 𝟏𝒙 

  𝑥0 =
−24

−0,1
= 240  

Dérivée  𝒌′(𝒙) = −𝒙𝟐 + 𝟏𝟎𝒙 
Avec Δ = 100  ; 𝑥1 = 10   𝑥2 = 0 

 

𝑥 −3  0 

𝒊′(𝒙)  +  

𝑖(𝑥) 
 
 ↗  

 

 

 

𝑥 0  240  1000 

𝒋′(𝒙)  + 𝟎 −  

𝑗(𝑥) 
 
 ↗  ↘  

 

 

 

𝑥 −5  0  10  20 

𝒌′(𝒙)  − 𝟎 + 𝟎 −  

𝑘(𝑥) 
 
 ↘  ↗  ↘  

 

 

 
 

 


